KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #: 30931	API No. 15 - 033-210630000
	County: Comanche
Name: Daystar Petroleum, Inc. Address: 1321 W. 93 rd N.	
City/State/Zip: Valley Center, KS 67147 Purchaser: PRG, L.C. / Cooperative Refining	
Purchaser: PRG, L.C. / Cooperative Refining	
Operator Contact Person: Charles Schmidt	Footages Calculated from Nearest Outside Section Corner
Filolie, (310) 733-3323	(circle one) NE SE NW (SW)
Contractor: Name: Pickrell Drilling	Kease Name: Woolfolk B Well #: 1
——————————————————————————————————————	음eld Name: Indian Treaty
g 👊 ;	Producing Formation: Mississippi
Designate Type of Completion:	S Elevation: Ground: 1795 Kelly Bushing: 1800
_x_New WellRe-EntryWorkove €	Total Depth 6357 Plug Back Total Depth: 5315
OilSWDSIOWx_Temp. Abd.	Amount of Surface Pipe Set and Cemented at 638 feet
GasENHRSIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
Other (Core, WSW, Expl, Cathodic, etc.	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to sx cmt.
Well Name:	Drilling Fluid Management Plan ALT 1 9H 10/2/00
Original Comp. Date:Original total Depth:	(Data must be collected from the Reserve Pit).
DeepeningRe-perfConv. To Enhr./SWD	Chloride content 6000 ppm Fluid volume 620 bbls
Plug backPlug Back Total Depth	Dewatering method used Haul to SWD
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: KBW Oil & Gas
	Lease Name: Harmon License No.: 5993
Feb. 17, 2000 Mar 5,2000 May 5,2000	Quarter NW Sec. 11 Twp. 33 S. R. 20 ☐ East ☑ West
Spud Date or Completion Date or Recompletion Date Date Reached TD Recompletion Date	County: Comanche Docket No.: CD-98,329
Recompletion Date Date Reactied 1D Recompletion Date	County. Comandie Docket No.: CD-38,323
Kansas 67202, within 120 days of the spud date, recompletion, work information of side two of this form will be held confidential for a period	with the Kansas Corporation Commission, 130 S. Market – Room 2078, Wichita, over or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. of 12 months if requested in writing and submitted with the form (see rule 82-3-ogs and geologist well report shall be attached with this form. ALL CEMENTING IIIs. Submit CP-111 form with all temporarily abandoned wells.
	ulate the oil and gas industry have been fully complied with and the statements
herein are complete and correct to the best of my knowledge.	
	KCC Office Use ONLY
Signature: / Malls Allenning	Letter of Confidentiality Attached
Title: President Date: Aug. 8, 2000	If Denied, Yes Date:
Subscribed and sworn to before me this day of Augus 20 00	Wireline Log Received
Notary Public: Marsha Breiteretter	Geologist Report Received
	— UIC Distribution
Date Composion Explication State of Kansas - MARSHA BREITENSTEIN My Appointment Expires 2 15 -03	

Side Two

Operator Name:						ame: Woolfolk B	\	/veii#: <u>1</u>		
Sec. 32 Twp	. <u>34</u> S, R.	_19	se 🗵 We	est Cou	nty:	Comanche				
tested, time tool op	en and closed, florecovery, and flow	wing and shut-i rates if gas to s	n pressure surface tes	es, whether shi st, along with fi	ut-in	il all cores. Report all fir pressure reached static chart(s). Attach extra sho	level, hydrost	atic pressure:	s, botto	m hole
Drill Stem Tests Ta	ıken	⊠ Yes □	No.		N	Log Formation (Top,	Denth and Da	ıtum	 □ Sa	ımole
(Attach Additi		⊠ 103 ∐	110		_	ime	Topin and Da			atum
(Allacii Addili	onar oneets)					ebner	427			472
Camples Cant to C	acianiani Sumusu	⊠ v □	NI.					_		
Samples Sent to Geological Survey Yes No					nsing	448		_	659	
Cores Taken ☐ Yes ☒ No					ark Shale	486		-	067	
Electric Log Run ⊠ Yes □ No				ı	C Swope	487		_	074	
(Submit Copy)					ishpuckney Shale	492	25		125	
List All E. Logs Rui					Ва	se Kansas City	499	96	-3	196
Compensated Neur	tron-Density				Ma	armaton	502	20	-3	220
Compensated Dua	Induction				Ch	erokee Shale	517	70	-3370	
Microlog					Mis	ssissippi	528	38	-3488	
Sonic Log					Vic	ola	626	52	-4462	
		Report all s		ING RECORD -conductor, sur		New Used , intermediate, productio	n, etc.	-		_
Purpose of String	Size Hole Drilled	Size Ca Set (in C		Weight Lbs./Ft.		Setting Depth	Type of Cement	# Sacks Used		and Percent Additives
Conductor	30"	20"				57'	Redimix	21Yds		none
Surface	12 3/4"	8 5/8	ti	24		629	Lite Common	225 200	1/4#flocele, 3%CC	
Production	7 7/8"	4 1/2		10.5		5967	ASC	200	5#/s	sk gilsonite
		4	ADDITION	IAL CEMENTIN	IG/S	QUEEZE RECORD				
Purpose: X Perforate	Type of Cement # Sacks Us				ed Type and Percent of Additives					
Protect Casing Plug Back TD 4750-5170		Comi	Common		2% CC					
Plug Off Zon							-			
						<u> </u>				
Shots Per Foot	PERFORATION Specify For	N RECORD – E otage of Each I			Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth					
4	5420-22, 5495-9				6000 gls 20% SGA acid 5420-86					
4	5288-92, 5300-0 5338-50	6, 5318-20, 532 —————	22-24, 533	31-33,	12,500 gls 20% SGA acid 5288-5350					
4	5127-37, 5139-41, 5158-60. 5162-67				1000 gls 15%MCA; 6000 gls 20% SGA acid 5127-67					5127-67
				 			_			
TUBING RECORD	Size	Set At		Packer At	Lin	er Run				
						☐ Yes ☐ No				
Date of First, Resul	med Production, S	WD or Enhr.	Pro	ducing Method		Flowing Pumping	☐ Gas Lift	⊠ Other <i>(Exp</i>	olain)	
Estimated Producti Per 24 Hours	Estimated Production		Gas	Mcf		Water Bbls	Gas-Oil Ratio		•	Gravity
Disposition of Gas		METHO	D OF COM	MPLETION			Production In	terval No N	E .	
_	Sold vented, Submit AC	Used on Leas	se	☐ Open Hole		Perf. Dually Comp.	☐ Commi			- Proc. 2017
(II	romed, Gubillit AC	.0-10)		⊠ Omer (spe	ony)	***	2 - 1,12√8 13 - 13 -			

REMIT TO P.O. BOX 31 . . RUSSELL, KANSAS 67665

15-033-21083-0000

SERVICE POINT: ORIGINAL

DATE OS-17 OO 3 S 3 S 4 19	ALLED OUT ON LOCATION JOB START JOB FINISH SCOPEN.
J	COUNTY ISTATE
LEAST MONTH WELL # B-1-32 LOCATION COLOR	tersstotch, 9s- Comarche Ks.
OLD OR NEW (Circle one) /242-25-18.	-3/41/5
CONTRACTORY CKNell Dry.	OWNER DAY STAR Petroleum
TYPE OF JOB SURFACE CSQ.	, , , , , , , , , , , , , , , , , , ,
HOLE SIZE 13/4 T.D. 643	CEMENT
CASING SIZE 85/8 x24 DEPTH 6.38	AMOUNT ORDERED 225x. ALW + 3%cc
TUBING SIZE DEPTH	1/4# Flo-SeAl. 200 SX. CLASSA+300CC
DRILL PIPE DEPTH	296Gel 1805xCLASSA+396CC
TOOL DEPTH	COMMON A 380 @ 6.35 2413.00
PRES. MAX 300 MINIMUM 100	
MEAS, LINE SHOE JOINT 42 03	POZMIX@
CEMENT LEFT IN CSG.	GEL 4 @ 9.50 38.00
PERFS. ASS Circ. 308'	CHLORIDE <u>21</u> @ 28.10 588.00 Au 225 @ 6.00 1350.00
DISPLACEMENT, 38% Blds Fresh Ha	
EQUIPMENT	
	@
PUMPTRUCK CEMENTER Arry Dreiling	
# 343 HELPER Fustin Hart	HANDLING 605 @ 1.05 635.25
BULK TRUCK	MILEAGE 60S 4.55 .04 1331.00
# 214 DRIVER MIKE RUCKER	INICEROD DO TO TO TO
BULK TRUCK ,	TOTAL \$ 6419.68
# DRIVER	TOTAL
REMARKS:	SERVICE
•	
Pipe on Bottom-losscine 308	DEPTH OF JOB 638
290CC+1/4#F10-SEAL 1005x CLASSA	PUMP TRUCK CHARGE 0 - 300 ATO 00
3% CC+ 2% God. Release Ava. Displace	EXTRA FOOTAGE 338' @ 43 145.34
W/38/2, Bots Fresh Hab: Bump Plag	MILEAGE 55 @ 2.85 156.75
no Returns: 100sx Class A+3/oct 29oct.	PLUG Kolber 87/8 @ 90.00 90.00
1805x. Class A + 390 cc. Coment Circ	@
to surface	<u> </u>
<u> </u>	
,	TOTAL # 862.09
CHARGE TO: DAYSLAR Petroleon	101ALL BUNG
STREET 1321 W. 93 RD ST. NORTH	
	FLOAT EQUIPMENT
	FLOAT EQUIPMENT
CITY VALLEY CENTERTATE FANSAS ZIP67147	FLOAT EQUIPMENT 1-RASSIC PLATE @ 45.00 45.00
	1-BASSIC PLATE @ 45.00 45.00 2-BASSICTS @ 150.00 300.00
	1-BASSIE PLATE @ 45.00 45.00
	1-BASSIE HATE @ 45.00 45.00 2-BASSETS @ 150.00 300.00
CITY VALLEY GNTERTATE KANSAS ZIP67147	1-BATTLE HATE @ 45.00 45.00 2-BASYets @ 150.00 300.00
To Allied Cementing Co., Inc.	1-BATTLE HATE @ 45.00 45.00 2-BASYets @ 150.00 300.00
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment.	1-BATTLE PLATE @ 45.00 45.00 2-BASYets @ 150.00 300.00
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or	1-BATTLE HATE @ 45.00 45.00 2-BASYets @ 150.00 300.00
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was	1-BASSIE MATE @ #5.00 #5.00 2-BASYETS @ 150.00 300.00 @
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	1-BASSIE PLATE @ #5.00 #5.00 2-BASYETS @ 150.00 300.00 @
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	1-BASSIE PLATE @ #5.00 #5.00 2-BASYETS @ 150.00 300.00 @
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	1-BASSIE MATE @ #5.00 #5.00 2-BASYETS @ 150.00 300.00 @
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	1-BASSIE PLATE @ #5.00 #5.00 2-BASYETS @ 150.00 300.00 @
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	1-BASSIE HATE @ #5.00 #5.00 2-BASSIETS @ 150.00 300.00 @ 150.00 300.00 TAX TOTAL CHARGE # 7626.74
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	1-BASSIE HATE @ #5.00 #5.00 2-BASSIETS @ 150.00 300.00 @ 150.00 300.00 TAX TOTAL CHARGE # 7626.74
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	1-BASSIE HATE @ #5.00 #5.00 2-BASSETS @ 150.00 300.00 @
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	1-BASSIE HATE @ #5.00 #5.00 2-BASSIETS @ 150.00 300.00 @ 150.00 300.00 TAX TOTAL CHARGE # 7626.74

ALLIED DEMENTING CO., INC. 1081

BOX 31 SELL, KANSAS 67665

15-033-21063-0000 SERVICE POINT: ORIGINAL

' REMITTO P.O. BOX 31 RUSSELL, KANSAS 67665

, , , , , , , , , , , , , , , , , , ,				.1		
	ALLED OUT S CC Phy	ON LOCATION	JOB START	JOB FINISH		
	Lunder	14.	COUNTY	STATE		
OLD OR NEW (Circle one) 6 (2 2 3 1 5						
,	, , ,	1 10 1	_			
CONTRACTOR PICK NELL TIPE OF YOR	OWNER [/	Myston Reli	MIRCH			
HOLE SIZE / // T.D. 6.3 C/ -	CEMENT	-				
CASING SIZE 4/3 × 16 DEPTH 59/0		DEDED 15 .	و يا جرز			
TUBING SIZE DEPTH DEPTH		RDERED 15 S				
DRILL PIPE DEPTH		900 + 50 101 Madriton	110			
TOOL DEPTH	310 681	The reserven.	-7 (Set [7		
PRES. MAX 1250 MINIMUM -	COMMON		@			
MEAS. LINE SHOE JOINT 43						
CEMENT LEFT IN CSG.	GEL					
PERFS.	CHLORIDE_					
DISPLACEMENT 97 AND 27 KI	CILCINDE_		_			
EQUIPMENT						
			- @ ———			
PUMP TRUCK CEMENTER CARL Valding						
# 2/1-2/3 HELPER Silvan min re	HANDLING					
BULK TRUCK	MILEAGE					
# 214-314 DRIVER [A., (4	_					
BULK TRUCK ,			тотат	.		
# DRIVER			IOIAI	·		
REMARKS:		SERVI	CE			
I a en le trai à look or collabor. De a lett	DEPTH OF JO	OB 596C				
First. Les sluc Cicolate + De Mail ter		K CHARGE				
mant John ser Golf M. declem oh Att	EXTRA FOO	TAGE	 @			
Hele W/15': (C:11/16 11/14 - Denie 2005)	MILEAGE					
ASC & Statesent General in wash drawed how						
Release sha & Dishe will 97 BDS 21 KIL			_			
Complete Float Held.						
			_			
			TOTA			
CHARGE TO: Danstas Teterlanas			IOIA	·		
CHARGE IO: 12911 TAY 10 TELLION						
STREET		FLOAT EQU	IIPMENT			
CITYSTATEZIP						
CITYSTATEZIP	1- 70.01ex	5/11+	@			
	1- 35 11	15eff	_			
	1. thread	lock Kit				
		Down Huy				
m	14- (Intial)	1				
To Allied Cementing Co., Inc.	-					
You are hereby requested to rent cementing equipment			т∩та	L		
and furnish cementer and helper to assist owner or			10111	·		
contractor to do work as is listed. The above work was						
done to satisfaction and supervision of owner agent or	TAX		_			
contractor. I have read & understand the "TERMS AND	TOTAL CITA	RGE				
CONDITIONS" listed on the reverse side.	TOTAL CHA	KUE				
	DISCOUNT -		IF PA	ID IN 30 DAYS		
1.4						
SIGNATURE (Commence)	11	do Stin	11			
SIGNATURE TYPE PROBLEM TO SIGNATURE		110 - 11	// Z./			
and the second s	PRINTED NAME					

ALLIED CEMENTING CO., INC. EMENTING CO., INC. 1093

5-033-21063-000 SERVICE POINT OF GIVE

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

-1000	,						WESTICI	the here's
 DATE 3-27-00	SEC.	TWP.	RANGE	CALLED OUT	ONLOC	ATION	JOB START 450 Jns	JOB FINISH
							COUNTY	STATE
LEASE Westfolk		-32	111	Coldwater.	173	<u>,]c 7</u>	Cenanch	1
OLD OR NEW (Ci	rcle one)		1 ///////9	<u>s (~ 25</u>	10 DE			
CONTRACTOR		well	Serv. ca	OWNER	Dayst	امد	Pticlen	n1
TYPE OF JOB 5	vecze				,			
HOLE SIZE 6	7	T.D.		CEMENT	ORDERED	135 6	Place	Ω
TUBING SIZE 2			<u>ዣዘ</u> ኅዘ		× CC	<u> </u>	<u>x (./~)52</u>	<u></u>
DRILL PIPE	78		TH		× ((
TOOL			тн					
PRES. MAX 1110	· c	MIN	IMUM -	COMMON	1		.@	
MEAS. LINE		SHO	DE JOINT	POZMIX			@	
CEMENT LEFT IN				GEL			.@	
PERFS. 5/7C				CHLORID	E		.@	
DISPLACEMENT							.@	
	EQU	IPMENT					.@	·
PUMP TRUCK	CEMENT	ER Za	1 Palding					-
	HELPER	Mari	<u> </u>	HANDI IN	1G	_		·
BULK TRUCK		_	_	MILEAGE				· — ·
	DRIVER	Dand	<i>'_F</i> _					
BULK TRUCK	DDW MOD						TOTAI	<i></i>
#	DRIVER_						101111	•
7-1-7-5 5170	- Pac		983 4. mc21.	DEPTH O	FJOB <u>517</u>	SERVIO		<u>. </u>
			on Rate 200		UCK CHARG			
24 Mys 75 = 161					OOTAGE		.@	
وي لحدي دايم	1916 y 1	11190 4	stort Dip	MILEAGE MILEAGE	₹		@	
			mter som	PLUG_	11246			
11 Kec psi			r + leveine		1) builted	<u>·</u>		
1 1 x 10 10 10 10 10 10 10 10 10 10 10 10 10	-{\\nac	1 Kr3	<u>tedana 10 020</u>				_@	-
7	. 1	D 1					TOTAL	<i>-</i>
CHARGE TO:	laysta	ir 10-4	rc/euni					
STREET					FLOA	T EQUI	PMENT	
CITY	ST	ATE	ZIP				<u> </u>	
					 -		 @	
	e.							-
T- Alli-d Co	C. 1	·						
To Allied Cemen			aantina aawina	ant.				
You are hereby re and furnish ceme				iciit			TOTAL	L
contractor to do v		-		was				
done to satisfacti								
contractor. I hav				AND				
CONDITIONS"				TOTALC	HARGE	<u> </u>		
JOI DILLORD	LINE OIL			חופרייוו	JT.		_ IE DA	ID IN 30 DAYS
	1 7			DISCOUR	14		n n	מואלו אל זיוו ליי
/	1/1/	د. د موراندر میدوموم						
SIGNATURE	ا شکار مرکز سیار	<u>ئے سرزیر سے سرتا جسا</u>	<u>~////~</u>			PRINTE	D NAME	
							6 16 6574.50	